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QUESTION 1          (25 MARKS)

          

The following information relates to the partnership Applepie Traders with partners A. Apple and B. Pie. The 

business is offering a catering service and is registered for VAT. 

 

Abstract from terms of the partnership agreement: 

1. A. Apple and B Pie are entitled to a monthly salary of R5 000 and R6 667 respectively. Both salaries form 

part of the distribution of profits. 

2. A Apple increased his capital contribution by R30 000 on the 31 August 2013. This amount has been 

taken into account when preparing the above trial balance. 

Interest on capital will be calculated at a rate of 10% per annum on the closing balances of the capital 

accounts. 

3. Interest on current accounts will be charged or earned at a rate of 8% per annum on the opening 

balances of the current accounts. 

4. Interest is calculated at 5% per annum on the partners’ drawings accounts as per partnership agreement. 

5. The partners will share the profits and losses between A. Apple and B. Pie in the following ratio: 3: 5 

 

REQUIRED: 

 

1.1 Prepare the closing entries in the Profit and loss account of Applepie Traders for 
the year ended 31 December 2013.  
 

(8) 

1.2 Prepare the appropriation account in the general ledger of Applepie Traders. 
 

(13) 

1.3 Show the journal entry to close off the drawings account of partners in the general 
journal of Applepie Traders. (Ignore narration) 
 

(4) 

 ROUND TO THE NEAREST R1!!!  

 

Debit Credit

Capital: A Apple 100 000

Capital: B Pie 150 000

Current Account: A Apple 7 000

Current Account: B Pie 9 000

Drawings: A Apple 58 140

Drawings: B Pie 70 860

Long term loan: A Apple 30 000

Services rendered 284 210

Interest on loan: A Apple 900

Advertising 7 000

Water and electricity 14 400

Interest on overdraft 10 000

Depreciation 15 192

Bad debts 908

Applepie Traders

Extract of Trial Balance as at 31 December 2013
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QUESTION 2                    (25 MARKS) 

Becker & partners started a partnership on the 1 January 2013. They specialise in cleaning material. The 

accountant has fallen ill and you were requested to assist with the following transactions.  

The partners have provided you with the following information: 

a) Backer & partners is a registered VAT vendor 

b) All sales are marked up at 20% on cost 

c) The partners are charged 5% interest on capital 

d) The partners Joe, Amy and Ebrahim share in profit/losses 3:2:1 respectively 

 

1. Becker and partners sold 500 units of floor wiz mops to ABC (Pty) Ltd on credit. They had purchased the 

floor wiz mops at R20 (excluding VAT) per unit. 

 

2. Partner Ebrahim withdrew R 100 for his personal use.  
 
 

3. Process the following transactions. (NB: The transactions are processed in the Payments section) 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



` 

 

4. Backer and partners received notification that Sunvest is insolvent. Sunvest notified Backer and Partners 
that tax invoice 2569 will be paid at the end of the next month. The partners have decided to write off the 
remainder of the balance as bad debts.  
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5. Process the following transaction 

 

 

REQUIRED: 

Use the table below to show the effect of the transactions above on the accounting equation. You must redraw 

this table in your answer sheet. (Round off your answers to Two decimal Points)                                    

     

 ASSETS EQUITY LIABILITIES 

No Account 
name 

Sign (+/-) 
amount 

Dr/ Cr 
 

Account 
name 

Sign (+/-)  
amount 

Dr/ Cr 
 

Account 
name 

Sign(+/-) 
amount 

Dr/ Cr 
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QUESTION 3          (25 MARKS) 

V. Pata and X. Nisa are in a partnership called Patanisa Publishers which specialises in publishing and selling kids 

books. They share profits and losses in the ratio 2:3. 

The following trial balance appeared in their books on the 31 December 2013. 

Trial Balance 

Patanisa Publishers 

For: December 2013 

Trial Balance 
      

Page 
1 of 1 

Account Account_Type   Debits Credits   
Balance Sheet        
5300 (Capital:Pata) Capital    90 000   
5301 (Capital:Nisa) Capital    120 000   
5400 (Current: Pata) Capital    8 400   
5400 (Current: Nisa) Capital   21 400    
6100 (Land & Buildings) Non-Current Asset   150 000    
6300 (Motor Vehicles) Non-Current Asset   54 000    
6400 (Long term loan) Non-Current Liability    20 000   
7100>010 (Trade Receivables) Accounts Receivable   18 000    
9100 (Trade Payables) Accounts Payable    5 000   
Totals    243 400 243 400   

 

Additional Information 

1. On the 31 December 2013 B. Bazo joins the partnership and purchases 1/5 share of the business 

depositing R50 000 in the partnership’s business account. 

2. Land and buildings are to be revalued to R105 000. 

3. The goodwill will not be reflected in the books of the partnership. 

4. The old partners wish to keep their old profit sharing ratios. 

5. The new partnership is to be renamed Bazopatanisa Publishers. 

 

REQUIRED: 

1 Calculate the Net Asset Value at 31 December 2013. (3 marks) 

2 Calculate the value of the Goodwill (2.5 marks) 

3 Calculate the new profit sharing ratios. (3.5 marks) 

4 Record the capital deposited by B. Bazo, Revaluation of assets and Goodwill 

in the General journal of Bazopatanisa Publishers. (Narrations are required) 

 

(16 marks) 
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QUESTION 4          (25 MARKS) 

 

SECTION A 

Below are two adjustments that were recorded in the general journal in pastel partner in the books of XYZ Traders. 

 

 

 

REQUIRED: 

     

4.1 Record the adjustments above in the general ledger of XYZ Traders for the period 
ending February 2014.  
(You do not have to balance and close off the accounts)  
 

(4 marks) 
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SECTION B 

Gugu and Lulu are in a partnership called GuLu. They share profits and losses in a 2:1 ratio. Below is the trial 

balance for the period ended February 2014.  

For: February 2014 

Trial Balance   

 DR CR 

5300 (Capital: Gugu)      55 000.00  

5301 (Capital: Lulu)      35 000.00  

5320 (Current account: Gugu)       3 250.00   

5321 (Current account: Lulu)        4 500.00  

6300>010 (Motor vehicle>acc depr)      34 450.00  

6300>020 (Motor vehicle>cost)   198 500.00   

7100>010 (Trade Receivables)     38 600.00   

7100>020 (Allowance for doubtful debts)           900.00  

8420 Bank   381 100.00   

9100 (Payables Control)      14 791.50  

9601 (Vat / Tax Control Account)      40 808.50  

9200 (Loan payable)    206 000.00  

5400 (Net profit before adjustments)    230 000.00 

   621 450.00    621 450.00  

 

Additional information: 

1. Depreciation of 25% per annum on the diminishing balance method must still be provided on vehicles for 

the current financial period. 

2. Office rent expense of R3 000 (excluding VAT) is still outstanding. 

 

REQUIRED:                                 

         

4.2 Record the above adjustments in the General Journal of GuLu for the period 
ending February 2014.  
(Narrations are not necessary)  
 

(5.5 marks) 

4.3 Assume that the remaining profit in the appropriation account is R185 987.50. 
Calculate the share of the remaining profit for Gugu and Lulu respectively. 
 

(2 marks) 

4.4 Prepare the statement of financial position (balance sheet) of GuLu for the 
period ending February 2014.    
 

(13.5 marks) 

         

 


